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1 data data
(v) left |right left [right

} treeNode _t;
typedef__ (V) tree t;

tree t btree;
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path= 88, 42, 31, 18, 23, 21, 68, 36, 55, 77, 66, 63, 28, 33, 52, SUM=701
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#include <stdio.h>
#define maxN 30
constint NV = -1;
int max(int x, inty){intr=x>y? _(I) ;returnr;}
int findR(int m[maxN][maxN], int X, inty, int sum){
int mi = max(max(m[x+1][y], m[x-1][y]),max(m[x][y+1],m[X][y-11));
sum += m[x][y];
printf("%d, ", m[x][y]);
mIx][y] = NV;
if (mi == NV) return _(I1) ;

if (m[x+1][y] == mi) return findR(m,__(111) , sum);
if (m[x-1][y] == mi) return findR(m,__(1V) , sum);
if (m[x][y+1] == mi) return findR(m,__(V) , sum);
if (M[x][y-1] == mi) return findR(m,__(VI) , sum);
int findl(int m[maxN][maxN], int x, int y, int sum){
while(1){
int mi = max(max(m[x+1]y]l,m[x-1][y]),max(m[x][y+1].m[x][y-1]));

sum += m[x][y];

printf("%d, *, m[x][y]);
mx]ly] = NV;
if (mi==NV)__(VIl) ;
else if (M[x+1][y] ==mi) __(VlII) ;
else if (M[x-1][y] ==mi) __(IX) ;
else if (M[X][y+1] ==mi) _ (X) ;
else _ (XI) ;

}

return sum;

int main(){

int x=0, y=0, mi=NV, n=5, m=6;
int map[maxN][maxN]={{NV, NV, NV, NV, NV, NV, NV},
{NV, 11, 15, 23, 18, 31, NV},
{NV, 31, 68, 21, 88, 42, NV},
{NV, 19, 36, 52, 33, 28, NV},
{NV, 12, 55, 77, 66, 63, NV},
{NV, NV, NV, NV, NV, NV, NV}};
I E R ANV
for(inti=1;i<=n;i++){
for(intj=1;j<=m;j++){
if (mi <map[i][iN{
i = map[i][j;
X=i; y=i;
}
}
}
printf("path=");
printf(""sum=%d\n",findR(map, X, y, 0));
return 0;
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01 [ #include <iostream>'
02 | #include <algorithm>
03 | using namespace std;
04 | class Compute{

05 | public:

06 void setData(int *, int);

07 ()] =0;

08 | protected:

09 int *data, d_size;

10 | X

11 | class ComputeMedian: public Compute{
12 | public:

13 double getNum();

14|}

15 | class ComputeMean: public Compute{
16 | public:

17 double getNum();

18 | };

19 | void Compute::setData(int *d, int s){
20 data =d;

21 d_size =s;

22 sort(data, data+d_size);

23

}
24 | double ComputeMedian::getNum(){
25 if ( (1 ==1) return data[d_size/2];
26 else return (data]__(111) _J+data[1+d_size/2])/2.0;

}
28 | double ComputeMean::getNum(){
29 double sum=0, avg=0;
30 for (int i=0; i<d_size; i++)

31 sum = sum + data[i];
32 return (__(IV) );
33|}

34 | class Report {

35 | public:

36 Report(int *d, int s){

37 data = d;

38 d size =s;

}
40 void setCompute(Compute *c) { cp=c; }
41 void report(){

42 cp>__ (V)

43 cout<<cp- >getNum()<<

44 }

45 | private:

46 int *data, d_size;

47 Compute *cp;

48 | }

49 | int main(){

50 int data[10] ={6, 7, 1, 21,2, 3,4, 3, 7};

51 Report r(data, 9);

52 Compute *cpl = new ComputeMedian();
53 Compute *cp2 = new ComputeMean();
54 r.setCompute(cpl);

55 r.report();

56 r.setCompute(cp2);

57 r.report();

58 return 0;
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